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?5] =R} 698 378 320 1,149 614 535
g | & | EREETR 554 284 270 1,068 526 542
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b3 #H 73, 652 173, 008 81,418 91, 590 -4 -82 18
% B2 ih i 19, 985 46, 558 21,212 25, 346 -14 -32 18
+ Z Br 584 1,356 643 713 -4 -3 -1
4BAF—TH 261 639 289 350 -1 0 -1
SEBRE_-TH 162 385 164 221 3 0 3
4BE=TH 276 670 297 373 4 -2 6
4BAFEMTAH 360 869 415 454 -5 -1 -4
4SBERTH 247 588 269 319 -2 0 -2
4BFENTH 468 1,065 454 611 -4 -2 -2
Z B = 1,189 2,761 1,284 1,471 -18 -3 -15
mEHMA—TH 252 611 285 326 1 0 1
mEA=TAH 147 381 164 217 1 -1 2
£/ F—TH 506 1,119 487 632 -2 -1 -1
E£/TFZTH 184 396 179 217 3 1 2
£/ TF=TH 245 551 265 286 -3 -1 -2
£/ THTH 345 759 347 412 7 -1 8
£/ TFTARTH 39 95 45 50 2 0 2
£ /J F 18 41 18 23 0 0 0
mAS®—TH 210 439 190 249 11 0 11
RAAXZTH 158 373 167 206 -6 -1 -5
RAX=TEH 132 319 153 166 -8 0 -8
mAB/MTH 252 570 252 318 -6 -1 -5
INET—TH 133 266 124 142 1 0 1
INETZTH 445 1, 091 471 620 0 -1 1
INET=TH 245 531 229 302 2 -1 3
KET—TH 435 913 401 512 -1 0 -1
KET—TH 573 1,237 549 688 -9 0 -9
KET=TH 377 842 378 464 -2 -2 0
KET@TH 384 940 433 507 9 0 9
KETETH 310 721 351 370 -4 -1 -3
KETRTH 187 517 240 277 -10 1 -11
KETETH 84 226 104 122 2 0 2
MAKRE—TH 440 1,009 463 546 -4 -1 -3
MARE_TH 423 97 449 522 5 0 5
MARE=TH 614 1,478 681 797 -1 -3 -8
MAREMTH 259 622 291 331 3 1 2
MARERTH 563 1, 391 651 740 3 -1 4
MARERTH 482 1,157 558 599 8 0 8
RLEAE—TH 492 1,000 460 540 9 0 9
HLEAHEZTH 781 1,709 764 945 18 -4 22
HEHE=ZTH 381 878 412 466 1 1 0
B AEMTH 362 857 403 454 4 -2 6
il Bk HT 497 1,093 470 623 0 0 0
#® B H 330 833 370 463 -4 -1 -3
{EBI—TH 415 1,043 500 543 0 -1 1
EB1—TH 2717 663 320 343 -4 0 -4
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£A—TH 338 801 368 433 -8 0 -8
EAZ-TH 127 1,592 124 868 -18 -1 -17
£E&=TH 155 434 187 247 -4 -1 -3
EAMTH 130 259 119 140 2 1 1
E&ATH 3717 945 454 491 -10 0 -10
 / F 501 1,270 541 729 10 1 9
WEE—TH 292 642 297 345 0 -1 1
WmEE"TH 252 581 259 322 2 -1 3
WBEE=TH 182 398 175 223 2 0 2
WmEEZMTH 101 250 106 144 0 0 0
WA AHB—TH 254 537 248 289 6 -1 7
WA AHB=-TH 174 414 192 222 3 1 2
WHAHB=TH 223 574 238 336 6 1 5
EAAHBmTAE 145 410 183 227 2 0 2
WA AHBAETHE 610 1,476 682 794 16 0 16
B o i 10, 156 24,679 11, 544 13, 135 28 -16 44
E#—TH 397 1,310 584 726 -8 -1 -7
E#%—TH 491 1,162 563 599 1 -1 2
E#g=TH 725 1,665 763 902 6 -1 7
[E#%m T B 336 732 364 368 -1 -4 -3
E#ATH 385 955 450 505 16 0 16
E o - E 2,483 5,867 2,718 3, 089 3 -1 4
m#E—TH 489 1,142 524 618 6 0 6
mE#EE_"TH 388 987 452 535 1 -1 2
% E=TH 264 661 302 359 5 0 5
[iick: 3= W= 460 1, 091 512 579 4 -1 5
tBAHEERE—TH 5 16 9 7 -4 0 -4
tEBAHEER-TH 462 1,088 487 601 2 -4 6
tEBHEER=TH 493 1,244 5717 667 -2 -3 1
tEBEAHEERMNTH 496 1,163 520 643 9 1 8
tEBAHEERERTH 286 700 345 355 -2 -1 -1
EmE—TH 709 1,815 863 952 6 3 3
EWE_-TH 457 1,106 525 581 4 -1 5
tEBAHE—TH 453 1,056 505 551 -6 0 -6
tBAHEZTH 377 919 421 498 -6 -1 -5
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=GR OH#h i 14,089 33,678 15, 985 17, 693 -46 -25 =21
#E—TH 340 797 388 409 -10 0 -10
wE#ERE-TH 774 1,992 936 1, 056 -8 2 -10
#E=TH 579 1, 441 653 788 -5 -2 -3
#EMTH 337 753 338 415 -4 0 -4
B’ERTH 389 783 363 420 -9 -3 -6
i =} 233 464 257 207 1 2 -1
F5—TH 478 1,117 556 561 -4 2 -6
F4SHZTH 500 1,162 510 652 1 -2 3
FH5=TH 400 1,010 430 580 -8 -3 -5
F n 276 574 271 297 0 -2 2
1] % 2,262 5,317 2,639 2,678 4 -1 5
£ BT B 708 1,696 813 883 -4 -2 -2
FL—TH 283 720 349 371 -5 0 -5
FILEZTH 452 1,150 540 610 12 0 12
FIL=TH 320 822 409 413 5 -1 6
FLETH 568 1,454 706 748 -3 -1 -2
FLAETH 219 462 234 228 2 -1 3
FILARTH 105 216 114 102 0 0 0
F I 44 103 43 60 -1 -1 0
HH—TH 192 435 212 223 -3 -1 -2
HH_-TH 387 980 485 495 -1 -1 0
HH=TH 836 1,991 960 1,031 -2 -3 1
HEHEMETH 332 806 386 420 7 0 7
HHETH 614 1,465 684 781 -1 -1 0
HHANTH 202 491 234 257 6 1 5
5] H 0 0 0 0 0 0 0
= g 1,390 3, 338 1,521 1,817 -10 -1 -9
#eElLU—TH 207 570 250 320 -1 -5 4
#HAEL_-TH 247 614 272 342 -4 -1 -3
#HEIL=TH 276 622 284 338 -2 0 -2
HeELMTHE 139 333 142 191 1 0 1
X iy #h = 19, 320 43, 056 20, 695 22, 361 9 -4 13
Wb /7 AN 1,714 3, 848 1, 809 2,039 12 -2 14
£-TH 735 1,321 657 664 4 -1 5
£=TH 662 1,498 7125 173 -5 0 -5
£MmTH 757 1,692 811 881 2 0 2
5RTH 1,130 2,758 1,363 1,395 -1 0 -1
=1 831 1,997 938 1,059 2 -1 3
INRA—TH 567 1,026 515 511 -3 0 -3
INERZTH 917 1,990 991 999 -5 0 -5
N R B 52 117 57 60 0 0 0
RKw—TH 285 494 227 267 2 0 2
KI=-TH 889 1,553 731 822 2 -1 3
AKM=TH 548 1,106 517 589 -1 -1 0
AKmTH 127 1,606 785 821 16 4 12
AKMATH 790 1,743 798 945 13 6 7
KMARTH 563 1,140 552 588 -2 0 -2
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X fin 1,337 3, 142 1, 502 1, 640 -7 -1 -6
=) 5 300 873 424 449 -3 0 -3
EHE—TH 1,652 3,768 1,842 1,926 2 2 0
b= 1] 1,958 4, 484 2,203 2,281 -10 1 -11
SR—TH 190 457 220 237 4 -1 5
SRE-TH 362 938 439 499 -5 -1 -4
SR=TH 250 574 288 286 2 -3 5
SRMTH X X X X 0 0 0
SRAETH 0 0 0 0 0 0 0
SRE—TH 311 788 364 424 0 0 0
SREZTH 204 460 222 238 1 -2 3
SRE=TH 249 581 257 324 1 0 1
SREMTH 460 1,071 491 580 -1 -1 0
SRERTH 166 417 191 226 0 0 0
SRENRTH 340 740 353 387 -5 -1 -4
SREtETH 374 874 423 451 0 -1 1
E #H i = 10, 102 25, 037 11,982 13, 055 19 -5 24
&—TH 407 798 415 383 14 0 14
[fAA—TH 637 1,395 681 714 -9 0 -9
FBA=TH 744 1,523 711 812 -1 -1 -6
iz PN 1,782 4 578 2,156 2,422 10 1 9
E#—TH 578 1,276 587 689 5 1 4
EE_-TH 672 1,680 798 882 7 -1
E#H=TH 256 625 311 314 7 0 7
EHEMONTH 2217 650 295 355 -5 1 -6
ERETH 451 1,134 547 587 -9 -2 -1
& VN 2,224 5 617 2,762 2, 855 -8 -3 -5
177 (] 1, 405 3, 740 1,785 1,955 7 4 3
£5] =5 719 2,021 934 1,087 7 -5 12
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